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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read
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int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)) {x=x*10+c-'0"';c=getchar();
x*f;

const int maxn= ;

int n,m,K,u,v,w,pos maxn];
LL dis[maxn]![maxn],dp[maxn<< maxn!,ans=111<<40;
int main

mem(dis, ;mem(dp, ;
n=read();m=read();K=read();
int i=1;i<=n;i++)dis[i][1i]1=0;
m__
u=read(),v=read(),w=read(),dis{ul v]=min(disiul[v], (LL)w),dis[v]|[ul=min(di
sivilul, (LL)w);
int k=1;k<=n;k++
int i=1;i<=n;i++
int j=1;j<=n;j++
dis[i|[jl=min(dis|[i|[j],dis[i| ki+dis(kI[]j]);
pos|0]=1;dp =0;
int i=1;i<=2*K;i++

pos/i/=read();
int j=1;j<=n;j++

dplil[jl=min(dp[il[j],dp[i-1][j]+dis[pos i- pos[ill);
dpii![jl=min(dp[i]![j],dpli- jl+dis[jlpos|i ;
int k=1;k<=n;k++

k!=j
dpl/i![kl=min(dp!i![k],dpli- jl+dis[j ] kl+dis k] [pos|i ;
dplilk|=min(dp/i![k],dpli- jl+dis|pos|i- kl+min(dis/k|[pos/i||,dis|]j
pos|i ;

int i=1;i<=n;i++)ans=min(ans,dp[2*K|[i]);
printf("slld\n",ans);
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)) {x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=100010;

int n,a,b,c,ce=-1,v[maxn], tot;
int first[maxn];

struct Edge

int u,v,w,next;

Edge

Edge(int 1,int 2,int 3,int 4):u( 1),v( 2),w( 3),next( 4
elmaxn<<2|;
void addEdge(int a,int b,int c

el++ce|=Edge(a,b,c,first[a]);first|al=ce;
el++ce|=Edge(b,a,c,first|b]);first|[b|=ce;

void Dfs(int now,int fa
int i=firstlnow!;i'!=-1;i=e[1i].next
elil.v!=fa

vielil.v]=vinow]|”e[i].w,Dfs(el[i].v,now);

struct Node{int ch[2]; }t[maxn<<5];
void insert(int &x,int w,int p
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Ix)x=++tot,t[x].ch =t[x].ch =0;

p::- 5
insert(tix!.ch|[(w=>>p)&l],w,p-1);

int Query(int x,int w,int p

p==- ;int c=(w>>p)&l;
tlx]l.chlc Query(tix!.chic]|,w,p-1);
Query(tix!.ch[c™1l],w,p-1)"(1<<p);

LL Solve(vector<int> v,int p

lv.size()||p==- ;
vector<int> d ;int ret=0, rt;
int i:v)d[(i>>p)&1].push back(i);
d .size()&&d .Size

ret=1<<(p+1); rt=tot=0;
int i:d insert(rt,1i, ;
int i:d ret=min(ret,Query(rt,1i,

ret+Solve(d ,p-1)+Solve(d ,p-1);
int main

mem(first,-1);
n=read!( ) ;
int i=1;i<n;i++)a=read(),b=read(),c=read(),addEdge(a,b,c);
Dfs(0,0);
vector<int> A;
int i=1;i<=n;++1i)A.push back(v[i]);
printf("sLlLld\n",Solve (A, ;
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#include<algorithm>

#include<iostream>

#include<cstdlib>

#include<cstring>

#include<cstdio>

#include<vector>

#include<queue>

#include<cmath>

#include<map>

#include<set>

#define LL long long int

#define REP(i,n) for (int i = 1; 1 <= (n); i++)

#define Redge(u) for (int k = h[u],to; k; k = ed[k].nxt)
#define cls(s,v) memset(s,v,sizeof(s))

#define mp(a,b) make pair<int,int>(a,b)

#define cp pair<int,int>

using namespace std;

const int maxn = 1000005,maxm = 100005,INF = Ox3f3f3f3f,P = 998244353;
inline int read

int out = 0,flag = 1; char ¢ = getchar();

while (c < 48 || ¢ > 57){if (c == '-') flag = 0; c = getchar();

while (c >= 48 && ¢ <= 57){out = (out << 1) + (out << 3) + c - 48; c =
getchar();

return flag ? out : -out;
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int faclmaxn!,inv[maxn],fvimaxn!;

void init
int E = 1000000;
fac[0] = 1;
int i = 1; i <= E; i++) facl[i] = 111 * fac[i -
inv[0] = inv[1l] = 1;
int i =2; 1 <= E; i++) inv[i] = 111 * (P -
P;
fv[O] = 1;
int i = 1; i <= E; i++) fv[i] = 11l * fv[i -
int C(int n,int m
111 * fac/n] * fvim] % P * fvin - m| % P;
int main
init();
int T = read();
T--
int n = read(),m = read(),k = read(),ans = 0;
n>m) swap(n,m);
int i =0; i <=n - k; i++
ans = (ans + 111 * C(k + i - 1,i) * C(n-
Cm-1-1,m-Kk-1) %P) % P;

printf("%sd\n",ans);

0;
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#include<algorithm>
#include<iostream>
#include<cstdlib>
#include<cstring>
#include<cstdio>
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#include<vector>

#include<queue>

#include<cmath>

#include<map>

#include<set>

#define LL long long int

#define REP(i,n) for (int 1 1; 1 <= (n); i++)

#define Redge(u) for (int k h[ul,to; k; k = ed[k].nxt)

#define cls(s,v) memset(s,v,sizeof(s))

#define mp(a,b) make pair<int,int>(a,b)

#define cp pair<int,int>

using namespace std;

const int maxn = 100005,maxm = 100005,INF = O0x3f3f3f3f;

inline int read

int out = 0,flag = 1; char ¢ = getchar();

C <48 || ¢ > 57 c == '-') flag = 0; c = getchar();
c >= 48 && ¢ <= 57){out = (out << 1) + (out << 3) + c - 48; ¢ =

getchar();
flag 7 out : -out;

int n,plmaxn/;
int fimaxnl,len[maxn],Almaxn];

int getlis
int i = 0; i <= n; i++) len[i] = INF;
len[0] = 0;
int ans = 0;
REP(i,n
int L = 0,R = ans;
L <R
int mid = (L + R+ 1) >> 1;
len[mid] < Ali L = mid;
R =mid - 1;
fl[i] = L + 1;
len[f[1i = min(len[f[i]],A[i]);

ans = max(ans,fli]);
ans;

int main
int ans = INF;
n = read();
int 1 =0; 1< n; i++) pli] = read();
int i =0; i<n; i++
int j =1; j <=n; j++) A[j] = pl(i +3J - 1) % n];
ans = min(ans,n - getlis ;

printf("%d\n",ans);
0;
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigiti(c =='-"')f=-1;c=getchar
isdigit(c)) {x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=100010;

int n,tolmaxn],size[maxn],cnt;
bool vis[maxn];

struct data

int 1,vImaxn];
data 1=1;memset(v,0,sizeof(v));

data operator = (const int& t

1=1;v[1]=t;

vill=9) vil+1l]+=v[11/10,v[11%=10, 1++;

*this;
data operator * (const int& t

data c;c.1=1;
int i=1;i<=1;i++)c.v[il=v[i]*t;

int i=1;i<c.l;i++)c.v[i+1l]+=c.v[i]/10,c.v[1

[o)

%=10;

c.vic.l1>9)c.vlc.l+1]+=c.v[c.l]/10,c.v[c.l]%=10,c. L++;

c;
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data operator *= (const int& t

*this=*this*t;
*this;

data operator / (const int& t)const

data c;c.1=0;int f=0;
int i=1;i;i--
f=f*10+v[i];
f>=t)c.l=max(c.l,i);
c.vlil=f/t;
f%=t;

c;

int operator % (const int& t)const

int f=0;
int i=1;i;i--)f=(f*10+v[i])%t;
f;
int gcd(int a,int b ==0 7 a : gcd(b,a%b);
void print(data s int i=min(n,s.l);1i;i--)printf("%sd",s.v[1]);
int main
n=read( ) ;

int i=1;i<=n;i++)tolil=read();
int i=1;i<=n;i++
lvis|i

int now=i;
size|++cnt]=1;
vis[now|=1;
lvis|[to[now
vis[tolnow! |=1,now=to[now],sizelcnt]++;

sort(size+l,size+cnt+1);
cnt=unique(size+l,size+cnt+1l)-size-1;
data ans;
ans=size ;
int GCD;

int i=2;i<=cnt;i++

int tmp=ans%size|i;
GCD=gcd (tmp,sizel(i]);
ans=ans*size|i];
ans=ans/GCD;
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print(ans);
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#include<iostream>
#include<cstdio>
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#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0, f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-") f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

int main

puts("0.666667");
0;
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef unsigned long long ULL;
typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)) {x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=4010;
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string a,s/maxn
int

,prtimaxn];

n,Case,tot,id maxn|,listl maxn|,list2/maxn|,11,12,dp maxn]| [ maxn , Len; //[0/
0000000000 @DOOO00endif)
ULL hlmaxn];
bool cmp(int a,int b hilistllal /==h[list2/b]];
ULL Hash(string str
ULL res=0;
int i=0;i<str.length();i++)res=res*133+str(i];
res;
void dfs(int i,int j,int k
i:: && j:: ;
cmp(i,j) && k==
i && j & dplil[j ==dp[1i- j- +
prti++len|=s|[listl|i]|;
dfs(i-1,j-1,k);
i &8 j & (dplillj ==dp|[1i- j- +2 ||
dplill[] ==dp|[1i- j- +
prt[++len]=s[listl[i]];prt[++len|="#endif";
dplillj ==dp|1i- - +2 ? dfs(i-1,j-1,
dfs(i-1,j-1,1);
prt[++len]="#endif";
dpiil ] ==dp[1i][] +1 7 dfs(i,]j, : dfs(i,j,2);
prti++len|=s|[listl|i]|;
i && dplillj ==dp[1i- J + dfs(i-1,3,1);
i && dplillj ==dp[1- j + prt[++len]="#ifdef
branchl"; dfs(i-1,3,0);
prt[++len]=s[list2[j]];
j & dplil[j ==dpli][j- + dfs(i,j-1,2);
j & dplillj ==dpli][j- +2) {prt[++len]|="#else";
dfs(i,j-1,1);
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j & dplillj ==dpli][j- +2){prt[++len]|="#ifdef
branch2"; dfs(i,j-1,0);
int main
getline(cin,a
a =='<"')Case=1;
a =='="')Case=2;
a =='>"')Case=0;
++n,s/nl=a,id[n|=Case;
int i=1;i<=n;i++)h[il=Hash(s[i]);
int i=1;i<=n;i++
id[i]!'=2)listl[++11]=1;
id[i]!'=1)list2[++12]=1;
int i=0;i<=11;i++ int
j=0;j<=12;j++)dp[i][] =dplil[] =dplil[] =maxn;
dp =0;
int i=0;i<=11;i++
int j=0;j<=12; j++
i&& j &
cmp(i,j))dplil[j =min(dp/i- j- +1,min(dpli- j- +2,dpl1i- j-
+ ;
i)dplill] =min(dp/i- j +1,dpli- j +2);
jrdplill[j =min(dp[i][j- +1,min(dp[i][j- +2,dplillj- + -
dpiil ] =min(dp(i][]j ,min(dp[i]/[j +1,dplil[] + ;
dfs(11,12,0);
int i=len;i;i--)cout<<prt|/i|<<endl;
0000
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